[image: image1.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


H5SDM
Honda CBF600 2008-

Honda CB600F Hornet 2007-
Kit for left side:




Kit for right side:
	ID
	Description
	Cat.No
	Qty

	1
	Slider SLDM
	SLDM
	1

	2
	Bolt M6x20
	1024
	2

	3
	Washer M6
	1023
	2

	4
	Bolt M10x40
	854
	1

	5
	Dural. adapter for SLD
	DV-10
	1

	6
	Dural. adapter
	609
	1

	7
	Bolt M12x85x1,25mm
	899
	1

	8
	Bolt M10x65x1,25mm
	945
	1

	9
	dural.cylinder d=12mm
	80
	1

	10
	dural.cylinder d=8mm
	79
	1

	11
	Washer M10-spring
	801
	1

	12
	Dural.bracket for SLDM
	537/B
	1


	ID
	Description
	Cat.No
	Qty

	1
	Slider SLDM
	SLDM
	1

	2
	Bolt M6x20
	1024
	2

	3
	Washer M6
	1023
	2

	4
	Bolt M10x40
	854
	1

	5
	Dural. adapter for SLD
	DV-10
	1

	6
	Dural. adapter
	610
	1

	7
	Bolt M12x65x1,25mm
	940
	1

	8
	Bolt M10x65x1,25mm
	945
	1

	9
	dural.cylinder d=12mm
	80
	1

	10
	Washer M10-spring
	801
	1

	11
	Dural.bracket for SLDM
	537/B
	1


Instruction to assembly-left side:
1. Take out orignals bolt from frame.
2. Insert bolts ID.7 and ID.8 into the dural.adapter ID.6.
3. Put on the bolts dural.cylinder ID.9 and ID.10, and mount this set on the frame, use the original bolt and washer.
4. Take bolt ID.4 put on the bolt washer M10 ID.11, dural.bracket for SLD ID.12 and dural.adapter for SLD ID.5

5. This kit mount on the frame.
6. Use bolts and washer ID.2 a ID.3 and mount DIAMOND.
Instruction to assembly-right right side:
1. Take out orignals bolt from frame.

2. Insert bolts ID.7 and ID.8 into the dural.adapter ID.6.

3. Put on the bolts dural.cylinder ID.9 from back side the dural. holder.
4. Mount this kit on the frame.
5. Take bolt ID.4 put on the bolt washer M10 ID.10, dural.bracket for SLD ID.11 and dural.adapter for SLD ID.5

6. This kit mount on the frame.

Use bolts and washer ID.2 a ID.3 and mount DIAMOND
Warning – use the glue of all threads. Medium strong.
[image: image2.jpg]


[image: image3.jpg]


[image: image4.png]



2

